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Question 1

The Historic Environment has a focus on the process of history, considering the value of sources as
evidence and the way an historian follows up an enquiry but it is nested within the context of the
Thematic Study and therefore knowledge of the specific context is expected.

Most candidates discussed trench foot and trench fever but other examples were offered such as
dysentery. Shell-shock or PTSD was also named by a large number of candidates and this was
accepted as the condition often developed in the trenches from the circumstances of constant
bombardment but answers which focused on battle injuries missed the point of the question,
which asked about illness arising from the conditions in the trenches. The prevalence of rats was
another valid point if it was linked to disease.

It should be noted that the feature identified should be something characteristic of the topic and
that having identified a feature, candidates should add further details which will explain the feature
or provide context; answers which listed four disconnected points of information were limited to a
maximum of two marks. When candidates had written two sentences for each feature, it was easy
for examiners to identify and reward the feature and the additional detail; if the answer consisted
of just one sentence it was sometimes hard to distinguish whether additional detail had been

provided.

There were also a number of answers which tried to use the same point as two separate features,
for example lack of hygiene and dirty conditions.

Candidates should use the mark and the space in the answer booklet as a guide for the length of
their answer. An answer that continued beyond the lined space was often wasting time - in many
cases, the answer had already scored the full 4 marks and no further marks could be awarded.
Where the candidate was unsure about the answer, the additional comments were usually
irrelevant. It was very rare for additional comments to gain any marks.

GCSE History THIO 11

5



about the information contained in the source that was presumed to be useful because it was
relevant to the enquiry, listing limitations in the content coverage or asserting that a source was
limited because it is biased. Good answers made clear the criteria being used to assess the
usefulness for the enquiry of the source, weighing the value of the content in the light of the
provenance and the candidate’s own knowledge. The criteria could be accuracy, reliability, the
relevance of the source, the way it could be used by the historian, how representative the source is

etc.

High level answers about Source A weighed the insight to be gained from his position as captain
and the personal nature of the letter against the possibility of censorship or his reluctance to upset
his family. For Source B, candidates recognised that the painting was based on personal knowledge
but considered whether its purpose affected the accuracy of the portrayal.

Although a judgement should be reached on the overall usefulness of each source, there is no
requirement to compare the sources or to use them in combination and no marks are available for
this. Candidates who focused on comparisons between the sources often failed to develop their
judgement on each source properly; if this approach is used, it is important that the answer still
comes to a judgement on each individual source.

GCSE History 1HI0O 11 9



Question 2 (a)

Itis important to note that the question asks about the usefulness of a source for a specific
enquiry, in this case, an enquiry into the work of the stretcher bearers.

Candidates found the sources accessible and could make a number of points about the usefulness
of the content and their provenance. Sometimes the judgement of utility was based on the simple
assumption that any information about stretcher bearers would be useful to an historian but at
Level 3, answers were clearly focused on the usefulness of the sources for showing the nature of
the stretcher bearers' work.

When considering provenance, there were a number of generic comments about a source being
biased (with no explanation of how that bias could be detected or why it occurred), about Source A
being reliable because it came from the time under investigation or that the date of the painting
(after the war) made it unreliable. These comments could be made without any reference to the
individual source and therefore remained at Level 1. At Level 2, a more developed explanation was
provided, for example focusing on the purpose and intended audience of Source A which was a
letter written to his family and therefore the Captain might not have included the problems or
horrors that he encountered in order to avoid worrying his family. It was pleasing to see comments
on Source B which went beyond the comment that the artist might be biased and suggested that as
the artist had been commissioned to produce the painting, he might want to ‘glorify’ the work of
the stretcher bearers.

At Level 3, comments need to show the effect of the provenance on the usefulness of the source
content, for example linking the fact that he was writing to his family to examine the specific
content of his letter. Strong answers recognised that the details were probably accurate but the
focus was on the tiring nature of the work rather than the danger involved.

Most candidates offered valid comments about the sources’ content and many also made valid
comments about the provenance of the sources. However, some very good answers could not
access the higher marks because they did not include contextual knowledge. Contextual knowledge
is mentioned at every level of the mark scheme and failure to include it limited a number of
otherwise good answers. Contextual knowledge could be used to add detail about something
mentioned in the source, to add weight to an aspect of the provenance, to place the source in a
broader context, or to assess whether the source gave an accurate view or showed a typical
situation. At Level 3, contextual knowledge should be used in the process of reaching a judgement
and not simply provided as information.

There was a very small number of answers which only considered one source. Every level of the
mark scheme refers to ‘sources’ and therefore answers which do not consider both sources cannot

access high marks.

The focus should be on assessing the usefulness of what is in the source rather than listing details
which are not mentioned - sources were not produced in order to be used by historians and they
should not be dismissed because they do not cover every detail that might be useful in an
investigation. If the answer identified omissions from the source as limitations on its usefulness,
there should have been an explanation of why these details could have been expected from this
source. Candidates should also recognise that it is not enough to repeat a detail from the source
and assert that this can be confirmed from the candidate’s own knowledge - some additional detail
is needed as a demonstration of that own knowledge.

The question asks ‘how useful’ the sources are, so a judgement should be made on the usefulness
for the specific enquiry of the evidence in each source. The best answers went beyond statements
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2 (a) Study Sources A and B in the Sources Booklet.

How useful are Sources A and B for an enquiry Iinto the work of the stretcher
bearers on the Western Front?

Explain your answer, using Sources A and B and your knowledge of the historical
context.
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Examiner Comments

The analysis of Source A reaches Level 3. There is a thorough
analysis of content linked to contextual knowledge and with a
consideration of the effect of provenance. A judgement is offered
on the source’s usefulness.

The analysis of Source B also reaches Level 3. It analyses the
content of B and links this to contextual knowledge and places this
in the light of its provenance to reach a judgement on usefulness.

Secure Level 3 for each source, produces a mark at the top of the
level.

ResultsPlus

Examiner Tip

Don't just focus on what can be learned from the source content.
Link the content to the provenance and to contextual knowledge.
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(b) Study Source A.

How could you follow up Source A to find out more about the work of the
stretcher bearers on the Western Front?

In your answer, you must give the question you would ask and the type of source
you could use,

Complete the table below.
(4)
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Examiner Comments

A detail has been selected from Source A which is then the starting
point for a broader enquiry into the work of stretcher bearers.

It is reasonable to suggest that the RAMC would keep records of
the searches for the wounded and the explanation shows how
such information could be used to work out the average time
spent and therefore provide an answer to the proposed question.

y
00 ResultsPlus

Examiner Tip

Make sure the final section explains how the information in the
suggested source could be used to answer the proposed question;
don't just say that the source would provide information to answer

the enquiry.
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Question 3

This was a straightforward question and many candidates wrote confidently about the shift from a
belief in miasma, the Four Humours or spontaneous generation, to a more scientific understanding
of the cause of illness based on knowledge of microbes or of genetic or lifestyle problems.

However, a sizeable minority asserted that the main belief about the cause of iliness in the years
¢1700-c1850 was the idea that God had sent illness or a belief in the supernatural. Others were
unsure of the date of Pasteur's germ theory and thought that people understood about microbes in
the period c1700-c1850. This meant that the difference being identified was invalid and it was
difficult to award many marks even when the knowledge of one set of ideas about the cause of
illness was very detailed, if that information was not being used to support a difference. Some
answers strayed from the focus on ideas about the cause of disease and included details about
prevention or treatment. For example, some answers compared the idea of miasma with
vaccination or Salvarsan 606.

Candidates should aim to explicitly identify a difference in the ideas of each period and then offer
evidence from both periods to provide support. For example, the difference could be the shift from
the rational explanation of iliness, based on empirical evidence about the link between hygiene and
health, to a scientific understanding of microbes causing disease or inherited genetic conditions.

Some answers simply juxtaposed ideas about the cause of illness from the two periods without
actually saying what the difference was. In other cases, the supporting information was
unbalanced, describing the situation in one period and simply stating that it was different in the
other period. Some answers offered a range of points about each period but these were not linked
and therefore they merely offered information about the two periods rather than identifying a
difference. The answer does need to explicitly identify the difference and then offer evidence from

both periods to provide support.

While many candidates scored the full four marks, some wrote far too much. Answers providing
details on the Four Humours, Pasteur’s germ theory or healthy lifestyle campaigns demonstrated
excellent knowledge in support of a valid comparison but could not be rewarded beyond four
marks and possibly the time taken here affected the completion of the longer answers which

carried more marks.
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1 Describe two features of ill health among soldiers that arose from the trench
environment.

Feature 1

Feature 2

ResultsPlus

Examiner Comments

Two valid features are identified: trench foot and diarrhoea; in
each case the link between conditions in the trenches and the
illness is explained.

@ ResuitsPlus
Examiner Tip

Use separate sentences to identify the feature and to provide
additional detail, so that the examiner can see why two marks
should be awarded for each feature.
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3 Explain one way in which ideas about the cause of Iliness in the years ¢1700-¢1850
were different from Ideas about the cause of liiness in the years c1900-present.

....................................................................................................................................................................................

.................. ‘—Q‘w':.ﬁ\zrf“'l)o?e

ResultsPlus

Examiner Comments

The answer identifies a valid difference in the beliefs about
miasma and bacteria as the cause of disease. Supporting detail is
offered to explain the idea of miasma and to show that Koch
identified the microbes causing several diseases

@ ResultsPius
Examiner Tip

Make sure supporting detail is offered about each of the periods
named in the question.
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Question 4

The Renaissance period seems well-known and candidates produced detailed explanations of the
work of Vesalius and Harvey, showing how their experiments proved that some of Galen’s ideas
were wrong and therefore his authority as the basis of medical training began to be challenged.

Many answers linked these discoveries to the development of the printing press, showing that
ideas could spread more quickly and that the Church'’s control declined. These answers also often
stressed that this progress was in knowledge of anatomy and physiology rather than
understanding the cause and treatment of disease. Where comments on the printing press were
unsupported with specific examples, it was difficult to display high-level analysis. Generalisations
about the role of the printing press in advancing medical knowledge often over-stated its
importance, assuming that the general public bought medical texts and that accurate knowledge
about the cause and treatment of disease was now widely available.

It was particularly pleasing to see a number of answers which were knowledgeable about the work
of Sydenham. Comments included his emphasis on studying the symptoms of disease and his
differentiation between measles and scarlet fever and also the fact that his book became the
standard medical text in the late 17th Century.

The declining authority of the Church was seen as a key factor in the progress of medical
knowledge. Weaker answers tended to state that the decline in the Church’s authority allowed
Galen's ideas to be challenged but stronger answers explained that dissections were performed
more often, undermining reliance on Galen and leading to medical training being changed. Other
points were made about the work of the Royal Society encouraging investigation and sharing
knowledge although some candidates assumed this was a medical society and also that the general
public were conversant with the Society’s published transactions.

It was pleasing to see that a number of answers were awarded full marks and it was noticeable that
many of these were relatively concise. These candidates had understood the focus on explaining
causation and provided enough detail to support their explanation without becoming descriptive
while some answers that were very detailed and had excellent knowledge, did not develop the

analysis of causation.
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ResultsPlus

Examiner Comments

with a sustained focus on the question throughout the answer.
Assessment Objective 1 (knowledge and understanding) is also
Level 4. There is accurate and relevant supporting knowledge on
Vesalius, the Royal Society, the printing press and Sydenham.

It also covers 3 aspects of content.

The answer reaches Level 4 for Assessment Objective 2 (analysis),

GCSE History 1HIO 11
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Question 5

This was a popular question and most candidates understood the premise that Galen’s continued
dominance actually inhibited progress in care and treatment.

Galen's ideas were well known and there were some answers which described the Four Humours
and Theory of Opposites at length and then stated that such ideas were ineffective in treatment.
However, the majority of answers went on to explain that Galen's ideas were the basis of medical
training for physicians and therefore progress was unlikely until Galen’s authority was successfully
challenged. These answers often explained why the Church found Galen's ideas acceptable and
also how the Church controlled education and medical training. Strong answers also used this to
challenge or modify the statement in the question, explaining that without the Church’s dominance,
Galen's ideas would not have been preserved and possibly more dissections would have led to
better understanding of the body.

However, many candidates assumed that the Church was deliberately preventing progress and
without the Church’'s dominance, progress in understanding of disease would have automatically
occurred and effective treatment would have been available. Candidates tended to ignore the fact
that while people had a common sense of understanding that hygiene was linked to disease, they
still lacked the knowledge that would provide effective treatment and indeed, proper
understanding of disease did not develop until long after the decline in the Church’s authority. It
was therefore pleasing to see that a number of answers recognised that the situation was not quite
so straightforward as assuming everything could be attributed to Galen or even to Church control.
These answers explained that Galen'’s ideas were logical and sometimes seemed to work, or that
other ideas such as the influence of astrology or the idea of miasma, were also incorrect. In this
context, treatment would remain ineffective without a proper understanding of disease and this
was unlikely to develop since the level of medieval technology meant that microbes could not be
studied. A number of answers also showed a good understanding of medieval society by explaining
the reluctance to move away from generally accepted ideas.

Other challenges to the statement were based on the fact that many people relied on herbal
remedies, which were not based on Galen’s ideas and pointed out that these were often effective in

cases of minor illness.

‘Care’ was usually discussed in terms of monastic hospitals and many candidates could explain that
the seriously ill were not admitted and the focus of these hospitals was ‘care not cure’. These
comments were frequently negative, blaming the Church for not doing more without recognising
that few other hospitals existed and that there was no effective treatment for serious iliness. It was
also frequently asserted that these hospitals were dirty and unhygienic. While it is true that patients
often shared beds, religious institutions usually had high standards of hygiene (judged by medieval
standards).

There was little discussion of care in the home or the role of the apothecary.

Candidates were confident on the main aspects of content in this question and it was very pleasing
to note the number of strong answers that developed their own judgement linking the role of
Galen and the Church, Galen and public attitudes or discussing other aspects of medieval medicine
and care. There were some excellent answers in which a sense of an argument and evaluation
developed consistently throughout the answer and then in the conclusion, explicit criteria was
applied to explain the final judgement.
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ResultsPlus

Examiner Comments

The analysis is focused on the question and offers a consistent line
of reasoning which clearly explains the influence of various factors
making treatment and care ineffective. This therefore meets the
Level 4 demands of the mark scheme for Assessment Objective 2
(analysis).

There is also a good range of precise knowledge and a good
understanding of society, meeting the Level 4 criteria for
Assessment Objective 1 (knowledge and understanding).

It covers 3 aspects of content and also addresses both care and
treatment.

The judgement considers the impact of various factors and their
relative importance is discussed in the conclusion.

This has met all the demands of the mark scheme at Level 4 and
was therefore awarded full marks.

/(Q ResultsPlus

Examiner Tip

Plan your answer before you start to write it; this will help you to
develop a consistent line of argument.
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Question 6

Answers showed good knowledge about the role of government in public health, discussing
Chadwick’s report, the 1848 Public Health Act and the 1875 Public Health Act in order to explain the
government'’s shift from a laissez-faire attitude to one where the government accepted greater
involvement and responsibility. John Snow's work on cholera, the Great Stink and Bazalgette's
sewers were all mentioned.

The government'’s actions in making smallpox vaccination compulsory and later vaccinations in the
20" Century were also discussed and, in some cases, the Liberal reforms of 1906-1911. Candidates
wrote confidently about more recent government actions, for example anti-smoking, ‘Change4Life’,
and ‘5 a day’ campaigns. These were all used to show the government taking a more pro-active role
in issues affecting health and usually the explanation was clearly focused on the role of the
government. However, in some cases, a poor sense of chronology suggested that these changes
were happening in the 19" Century and that they were linked to the 1875 Public Health Act.

The significance of the government’s role in the NHS was also well known and detailed explanations
were given showing the change from having to pay for doctors' visits and treatment to a system
where this was provided and high-tech specialist care was available to everyone.

There were also attempts to discuss the government'’s role in research and the development of
treatment but these comments were often less secure. Candidates were often unsure about
whether the government funded research or they used examples of the French and German
governments funding the work of Pasteur and Koch or the American government funding the
development of penicillin. Stronger answers pointed out that the development of magic bullets or
penicillin had limited effect on people’s health until the provision of treatment was funded by the

NHS.

Many knowledgeable answers remained at Level 3. They could show the importance of the
government's role in public health, in treatment, in research and diagnosis etc but they did not
address the central point of the question which was whether the main development in the
government'’s role had been providing access to care and treatment.
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ResultsPlus

Examiner Comments

The answer displays Level 4 qualities of Assessment Objective 2
(analysis) offering a line of reasoning and consistent analysis. The
candidate considers the importance of government action in
creating the NHS which provided equal access to health services;
the importance of the Public Health Act, 1875, which ‘forced’
councils to take action and shows the significance of government
action in anti-smoking and heaithy lifestyle campaigns.

There is good knowledge on the various aspects of the
government's role, so it displays Level 4 qualities of Assessment
Obijective 1 (knowledge and understanding).

3 aspects of content are covered.
Judgements are made throughout the answer, applying criteria
and the conclusion justifies the judgement that the NHS is the

most important aspect of the government'’s role in medicine.

This answer has met all the demands of the Level 4 mark scheme
and received the full 16 marks.

OO ResuitsPlus

Examiner Tip

Make sure you respond to the actual question asked and don't try
to repeat an answer you have done previously.

GCSE History 1HIO0 11
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Paper Summary

Based on their performance on this paper, candidates are offered the following advice:

* Candidates need a secure understanding of the chronological periods and terms used in the
specification as well as the term ‘century’.

* Candidates need to understand the themes within the specification - ideas about the cause of
disease, treatment and prevention.

* A number of answers failed to reach the highest level because they were not focused on the
specific question being asked or did not deploy precise details.

* [tis not necessary to use the question’s stimulus points and candidates should not attempt to do
so if they do not recognise them; however, candidates should aim to cover three aspects of
content.

* While there was good knowledge of some topics, candidates cannot rely on knowing just a few
key topics and hoping to use that information whatever question is asked.
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1 Explain two consequences of the Gold Rush (1849) for migration.
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Examiner comment:

For the first part of the response the consequence is explained clearly, with
reference to population increase thus reaching AO2 Level 2. There is detailed
specific information provided for AO1, which is also at Level 2. This response
has more detail and explanation than is needed: the candidate could have
stopped with the sentence ending ‘rapid rate of migration’ and received full
marks. Overall, it reaches the top of Level 2.

The second consequence also has good knowledge with AO1 at Level 2, which
supports a consequence with explanation, making AO2 Level 2. Overall, this
response is at the top of Level 2.

Examiner tip:

Candidates should avoid writing overly-detailed responses, taking note of the
amount of space provided.




Question 2

This new style of question was not generally approached in an appropriate
manner by the candidates who attempted it. The overall structure of providing a
beginning, development and end was demonstrated by candidates who attained
Level 3. It was clear that such candidates had been taught to use language that
demonstrated analysis of links, for example ‘consequently’, ‘which resulted in’,
which was apparent, even if they had more limited knowledge.

Many candidates wrote several discrete, and often detailed, explanatory
paragraphs about separate events, developments, and key individuals, rather
than writing a coherent analysis linking the events and developments to create
the unfolding narrative at the focus of the question.

The topic of conflict with the Plains Indians in the years 1862-64 resulted in a
range of responses, with a good number able to establish a sequence. Most
candidates were aware of the details of Little Crow's War or the Sand Creek
Massacre but it is vital that candidates do not limit their responses to part of the
period: for example, some candidates only discussed Little Crow's War, in
isolation. There were some candidates who referred to the events of the Battle
of Little Big Horn or the battle of Wounded Knee, instead of the Sand Creek
Massacre, and confused Chivington and Custer. There was a considerable
number of candidates who did not attempt this question.
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Examiner Comment:

— I _

Lo ltad!

The candidate has provided a clear narrative with linking analysis, and phrases
such as ‘sparked tensions’ and ‘the result of this'. It is structured logically, with
correct sequencing thus reaching AO2 Level 3. Good knowledge showing
understanding is used to support the narrative leading to AO1 Level 3. Overall,

| the response is at the top of Level 3.

Examiner tip:

Candidates need to remember this is foremost a narrative, with a beginning,
middle and end, rather than a set of three separate paragraphs. Show how

one point in the narrative leads to the next.




Question 3

This question comprised two 8-mark questions, based on the second order
concepts of significance and consequence. Candidates had to explain the
importance of two of the following three topics: Plains Indians’ beliefs about land
and nature for relations between Plains Indians and settlers; the Timber Culture
Act (1873) for the settlement of the Plains; the Johnson County War (1892) for
relations between homesteaders and cattlemen.

The question on the Plains Indians was addressed more than the other two
options. Candidates who addressed the importance of the factor raised in
relation to development, produced Level 3 responses when supported by good
knowledge and understanding. This was as opposed to candidates who
explained the importance of the factor in general terms, who normally produced
responses that stayed in Level 2.

In terms of the question on the Plains Indians, Level 2 responses often provided
general knowledge on the beliefs of the Plains Indians, rather than the impact on
relations with settlers. Several candidates talked about the lifestyle of the Plain
Indians, rather than beliefs. For example, they discussed the buffalo in terms of
hunting, rather than how they were important for the spiritual beliefs.

Candidates who attained Level 3 recognised multiple implications and were
more likely to focus on aspects such as the settlers farming on sacred land, or
how settlers’ belief in Manifest Destiny clashed with land being provided by the

Great Spirit.

The question on the Timber Culture Act produced a range of responses, with
Level 3 candidates addressing primarily how the Act allowed farmers to produce
enough food due to the extra acres available, and the settlements becoming
more permanent. The responses that remained in Level 2 often demonstrated
knowledge such as the details of the Act, without explaining why it was
important. One misunderstanding that occurred was that some candidates
discussed how the Timber Act meant timber was transported to the Plains, or
focussed on the impact on the Plains Indians.



It was clear with the topic of the Johnson County War that candidates were
aware of the events of the dispute. Unfortunately, several candidates wrote the
details in the form of a narrative, which made it difficult to complete the analysis
required for Level 3. Better responses linked the Johnson County War to the end
of the open range in the long term, or demonstrated the facts that cattlemen

were willing to take the law into their own hands.
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Examiner comment:

First response: Timber - In this response, the candidate has provided an
explanation with a line of reasoning, discussing expansion of the plains and
hygiene, and showing analysis, thereby reaching AO2 Level 3. There is
knowledge used in support; however, this should be more specific, so AO1
Level 3 is weak. Overall the response is mid Level 3.

Second response: Plains Indians - The candidate has attempted to analyse,
however, the focus in the first paragraph is on lifestyle, rather than beliefs. The
second paragraph does discuss beliefs but it is not well explained, making the




[ AO2 low Level 2. There is some k?mwledge demonstrated, which makes the
AO1 Level 2. Overall, the response is mid Level 2.

Examiner tip:

Two well-developed explanations, that also have good knowledge and
understanding, will enable candidates to attain Level 3. It is vital to have both
knowledge and understanding used to support answers.




Question 5(a)

Candidates were asked to describe two features of Elizabeth's religious

settlement. Where candidates achieved marks in Level 2, usually they identified

a relevant piece of legislation and provided some information about it, for
example, associating the Act of Supremacy with Elizabeth'’s role as supreme

governor of the Church. A number of responses that received marks low in Level

2 did so due to a lack of clarity or irrelevant material: Mary, Queen of Scots and

Mary | both featured regularly, as did the grievances of the Puritans, serving as a

reminder of the importance of staying focussed on the topic.

At Level 1, candidates were able to identify Elizabeth’s religion or an aspect of

her legislation, for example English Bibles, but had not added further context to

this, for example by saying that each parish needed to have one.

(

| Option 84 Early Elizabethan England, 1558-88 |
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Examiner comment:

Therefore, this response gains 3 marks.

Examiner tip:

save you time.

Although the candidate begins with an incorrect statement, the rest of Feature
1 identifies a legal aspect of the Religious Settlement and goes on to add a
supporting detail. The second feature has confused the Book of Common
Prayer with the English Bible, but has enough evidence to be awarded a mark.

Avoid crossing work out on the short question - instead, see if you can
continue adding to it, because you will not lose a mark for a mistake. This will

=

L Optlon B4: Early Elizabathan England, 1558-88 )

If you answer Question 5 put a cross in tha box [3 .
- Answer Question 5(a), Question 5(b) and EITHER Quaestion 5{c}(l) OR Question 5(c)(ii).

5 (a) Describe two features of Elizabeth’s religlous settiement (1559).
(4l
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Examiner comment:

Although the phrasing is clumsy, and the knowledge is a little vague, this
response identifies two features of the Religious Settlement and provides each
with a piece of supporting knowledge. Therefore, this response gains 4 marks.

Examiner tip:

Be strict with the time you spend on this question: you do not need much
information to achieve full marks.




Question 5(b)

Candidates were asked to explain the reasons for increased exploration during
the Early Elizabethan period. The vast majority of candidates were able to
achieve at least Level 1 on this question, with the weakest answers providing
brief comment related to the stimulus points, for example, improved journey
outcomes thanks to more accurate maps.

At Level 2, candidates frequently described specific examples of aids or the
positive examples set by Drake and, latterly, Raleigh. Many candidates
emphasised the impact of rivalry with Spain, although at Level 2 this was often
not linked explicitly to increased exploration. Other Level 2 answers maintained
a good focus on AO2 but were limited by a lack of precise evidence, discussing
luxury goods in vague terms, for example.

At Level 3, responses were able to extrapolate from, for example, the successes
of Drake and other traders to explain that this motivated more Elizabethans to

attempt the journey.

At Level 4, responses combined the motivation provided by other people's
successful journeys with the enabling factors of better maps and bigger, safer
galleons, to provide a coherent and sustained explanation of the reasons for the
increase.

There was an over-reliance from some candidates on content that was only
obliquely relevant to the topic, for example, increased poverty in the era. Whilst
this may have led to more crew members available for the expeditions, it is not a
reason why the number of explorative journeys increased.
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In comparison with the 6-mark example, this response covers very similar
points but has achieved a mark in Level 4. The knowledge demonstrated is
more detailed, and links back to the question are therefore more explicit.
Although there is some deviation from the focus on the second page, the final
part of the paragraph ties its content back to the question. This answer

achieved full marks.

Examiner tip: Select evidence precisely, to help you explain the causes of the

event in the question.




Question 5(c)

Candidates were asked to debate an aspect of Early Elizabethan England history
- either the reason for the failure of the Spanish Armada (5(c)(i) or changing
attitudes towards the poor Q5(c)(ii). A significant majority of candidates opted to
answer Q5(c)(i).

Weaker responses to Q5(c)(i) tended to focus on vague descriptions prompted
by the stimulus points, of the impact of bad weather and/or fire ships. A
common error at this level was to describe fire ships as ships that fired cannons
at the Spanish or destroyed their ships, as opposed to breaking their formation.
A significant minority of candidates also misapplied their knowledge of improved
galleons, perhaps fresh in their minds from answering Q5(b), by explaining that
the English had larger ships than the Spanish. Many candidates seemed to think
Elizabeth was personally responsible for the tactics used.

In the mid-range, knowledge was usually accurate and more detailed, with
Drake’s Raid on Cadiz, the weakness of the Spanish leadership, and England’s
tactics to attack Spain’s crescent formation the most common range of causes
explained. However, links to the focus of the question were often left implicit,
with candidates not analysing how the Raid on Cadiz had a long-term impact on
the Armada’s ability to succeed, for example. This, coupled with a tendency to
continue adding causes, rather than to analyse those already identified, often
led to a list-like outcome that lacked coherence or an appreciation of the debate
to be had. This was particularly evident in answers where candidates had
continued on additional paper: although they clearly knew much about the topic,
this was not well-deployed to construct an evaluative analysis.

Answers that achieved highly in Level 3 and in Level 4 were marked on their
ability to group causes together and provide a supported judgement that
identified key turning points in the event: Spain’s inability to secure a deep-water
port coupled with the bad weather, for example.

When considering change in attitudes towards the poor in Early Elizabethan
England in their responses to Q5(c)(ii), weaker answers to the question often
included material related to the poor from other sections of the course.
References to a lack of education and the different leisure pursuits of the poor
were common, but usually not rewardable above Level 1, due to their lack of
connection to the focus of the question.



A small number of candidates developed the Houses of Correction stimulus
point by writing about workhouses in Victorian England, displaying a slightly
worrying lack of chronological understanding. Candidates that focussed on the
different categories of poor and/or the treatment of vagabonds tended to
achieve slightly higher marks because these were more relevant to the
conceptual focus. At Level 2, candidates were able to describe deserving poor
and idle poor, the treatment of vagabonds and the work of the Houses of
Correction. They were unable to identify or explain how this reflected change or
continuity in the reign of Elizabeth.

At Level 3 and above, candidates were able to deploy more specific knowledge in
relation to the topic. Common content included the names and dates of the
poor legislation that was passed during this time period, although some
candidates included references to the later Poor Laws, which were unfortunately
not rewardable within the scope of this question. At this level, candidates were
more likely to address the concept of change and continuity. Some answers
deployed evidence about the lack of change in educational opportunities
successfully, here, to exemplify continuity of attitudes. The changing treatment
of vagabonds was also widely used.

The best answers were able to identify the nuances in the change of attitudes.
For example, they explained that there was little change in the attitudes of the
public towards the poor, but that government legislation reflected a softening of
approach from the ruling class. Criteria against which judgements were made
also sometimes considered change at different times during the period, linking
increased poverty with changing attitudes.
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Examiner comment:

11 marks.

Examiner tip:

criteria to make a judgement.

In this response, the candidate has presented a balanced answer using varied
evidence. This could be more precise, for example by naming the legislation
described. Although the candidate has recognised the debate, there is a lack of
coherence in the response, which might have been avoided by planning the
order of the paragraphs before beginning the essay. The judgement has some
support but the criteria are left largely implicit. This answer achieves Level 3 -

Improve the sense of debate in your essay by writing a short plan before
beginning and, in your conclusion, evaluate the different causes against the
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Question 1

In question 1, candidates are invited to make a valid inference about the success of the Olympic
Games of 1936. There are two marks available for each inference - one for the inference itself and
one for the supporting information. Most candidates seemed to understand how to make an
inference although a disappointing number made inferences about matters which were not related
to the specified enquiry i.e. the success of the Olympic Games. Such candidates made points about
aspects of the source like the length of the closing ceremony without clearly relating this to the idea
of ‘success.’ A disappointing number of candidates repeated or paraphrased the phrase The Nazis
have succeeded with their propaganda’ as their inference instead of using this as supporting
information. However, those candidates who were able to provide an inference were almost
invariably able to support it with a relevant quote, paraphrase or description of an aspect of the

source.

Candidates used the table provided for the answers well and only those who also explained
why their supporting information helped to support the inference (which is not required) had to use

additional space for their answers.

A limited number of candidates attempted to use the provenance of the source to make inferences,
but the target of this question is to make inferences from the content.
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1 Give two things you can Infer from Source A about the success of the Berlin Olympic
Games in 1936.

Complete the table below to explain your answer.
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() What I can infer:
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Examiner Comments

This candidate has made two inferences supported by direct quotations from the
source so gains full marks.

@ ResuitsPlus
Examiner Tip

Candidates should read the whole question to make sure that their inferences relate to
the specific question - in this case the success of the Olympic Games.
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Question 2

Candidates performed well on this question and the topic of employment in Nazi Germany
appeared to have been very well taught.

The majority of candidates were able to go beyond the stimulus points, with reference to three
aspects of content and relate these to the question and it was noteworthy that even candidates
with more limited knowledge of the content were often able to provide a clear structure in their
answers, if not a clear analytical focus. The stimulus points are provided to help candidates to link
the question they have been asked with the material they have studied and to provide a prompt to
the analysis of the process of change. The majority of candidates used the stimulus points to aid
their explanation of the reasons for the reduction of unemployment in Nazi Germany and many
were able to add in at least one extra aspect of content. Knowledge was very strong in the area of
rearmament with some high-performing candidates able to use Hitler's disregard for the terms of
the Treaty of Versailles, and even failure of the international community to react to it, to explain
why the Nazis were able to use rearmament to reduce unemployment. Most candidates were
familiar with the autobahns as they are mentioned in the specification, although many candidates
attempting to use specific knowledge about them often made wild estimates about the intended
length of the new network or the numbers of men employed in their construction. Again, high level
answers often explained why such public construction projects might have created the conditions
for wider economic growth and, therefore, longer term reductions in unemployment.

Other popular topics were also those named in the specification such as the labour service and
invisible unemployment and these were often well explained. However, those candidates who
attempted to show that reductions in unemployment could be explained by recruitment to the SA
and SS struggled to make a convincing case.

Candidates did not need to provide a conclusion to show a sustained line of reasoning and those
who were most successful showed a sustained focus on the question in every paragraph.
Candidates who only really attempted any analysis in a conclusion struggled to meet the AO2
requirements at the higher levels. Candidates are not expected to prioritise or link factors at Level 4
and few attempted to do so. In cases where candidates did prioritise factors, examiners were
sometimes able to reward some aspects of the candidate’s argument as showing a clear line of
reasoning but it was not a strategy that automatically gained levels 3 and 4.

At Level 2, candidates often described the methods used to reduce unemployment which left links
to the question too implicit to meet the AO2 focus on analysis. At Level 3 candidates were mainly
focused on the conceptual focus of the question but sometimes lacked the wide-ranging knowledge
required at Level 4. At Level 4 there were many sustained analytical responses supported by well-
chosen examples which displayed clear understanding of the topic and these were often rewarded
with full marks.

Overall, candidates were very comfortable with this style of question and produced a range of
impressive answers.
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2 Explain why the Nazis were able to reduce unemployment in Germany in the years
1933-39.

(12)
' . ) R T
You may use the following In your answer:
«  rearmament IWwAle MMA/VIPI%VM
« autobahns RAD.
You must also use Information of your own, -
\ _ . _
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Examiner Comments

The candidate has covered three areas of content (autobahns, rearmament and
invisible unemployment) and has, therefore, satisfied the requirements for Level 4
answers to go beyond the stimulus points and to show wide-ranging knowledge. In
addition, detail is used to support the analysis, which is evident in every paragraph,
rather than being provided simply as information.

@ ResuitsPlus
Examiner Tip

This candidate has provided a conclusion but it does not add to the marks awarded.
Instead, Level 4 has been reached by the focus on the question which is evident in
every paragraph.

GCSE German 1HI0 31

1



Question 3 (a)

Candidates need to approach the utility question bearing in mind that judgements about utility
should be based on the usefulness of the sources for the specified enquiry, in this case challenges
to the Weimar Republic. It is important for candidates to remember that judging utility may involve
some comments about reliability but answers which focus solely on this aspect tend to be
extremely negative towards the source material.

Reliability can only ever be a small element of utility because an unreliable source can still be very
useful. It is also important that in judging utility provenance is related to the content of the source.
For example, the fact that the factory worker who was interviewed for Source C had actually
experienced the traumatic events she is describing perhaps makes it more useful to understanding
the challenges to the Weimar Republic. It might be true, as many candidates pointed out, that
because she was interviewed 50 years after the events described she might have forgotten details.
However, those same candidates often did not point out any areas in the source which displayed
this forgetfulness. In addition, many candidates who had stated that the information in the source
matched their own historical knowledge, often providing useful detail, then proceeded to describe
the source as useless because of the time between the events and the interview.

Many candidates made simplistic judgements about the reliability of the two sources which simply
did not match with their wider analysis. For example, many candidates dismissed Source B as not
being trustworthy because it appeared in a newspaper and newspapers are ‘biased’ or tend to
exaggerate. More sophisticated answers looked at the significance of such a photograph being
featured in a newspaper. These candidates offered suggestions about how the widespread
publication of the source might have made it more useful for finding out about challenges to
Weimar because it might have shaped public opinion about the Kapp Putsch i.e. it gives a useful
insight into how the public saw the challenge to Weimar.

The provenance of the source was often dealt with on a generic level and this is only likely to gain
marks at Level 1. Many candidates who offered otherwise quite interesting analysis of the content
and applied excellent subject knowledge to the interpretation of the sources still had a tendency to
fall back on simplistic judgements about provenance. Again, in the case of Source B, these
comments tended to be restricted to such ideas as the photograph being staged without any
analysis of how, why or to what end. Candidates often referred to such things as the photograph
being ‘a snapshot in time’ or that the technology to manipulate photographs did not exist in the
1920s so it was trustworthy. Not only are these statements too basic to be considered analytical but
they are also demonstrably untrue.

Many answers made good use of contextual knowledge but some well-prepared candidates spent
too much time talking about the Kapp Putsch and hyperinflation without using that material to
support reasoning about the sources’ utility, becoming stuck in Level 2 at best for many of their
points. In addition, it is not possible to gain credit for simply asserting that the candidate knows an
aspect of the source to be true without using specific knowledge to demonstrate this. Knowledge of
the numerous challenges to Weimar was quite strong although a small number of candidates
confused the Kapp Putsch with the Munich Putsch. It is also worth noting that simple
comprehension - 'it states', 'it shows' - based on the assumption that such information is useful,
remains low level. Developed statements about the usefulness of the content can reach Level 2 but
answers consisting solely of such comments are unlikely to progress beyond mid-Level 2,
irrespective of the length of the answer, because the other strands of the Assessment Objective
have not been addressed.

In attempting to analyse utility, many candidates have obviously been encouraged to describe what
is missing from the source and this led to some answers which could only be marked at Level 1 for
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this aspect of the mark scheme. The primary focus for all candidates should be to judge the utility
of what is there rather than what is not there. For example, many candidates claimed that Source B
was not useful because it did not show all the soldiers in Berlin at the time but this is not something
that the photograph could be reasonably expected to show. Candidates should recognise that the
sources were not written in order to be used by historians and they cannot cover every detail that
might be useful in an investigation.

Answers reach Level 3 by assessing the usefulness of the content in the light of the provenance and
the candidate’s own knowledge; the criteria used to make the judgement could be its accuracy (this
is not the same as reliability), the relevance of the source, the way it could be used by the historian,
how representative the source is etc. An evaluation of a source’s utility should be explicit about the
criteria being used, for example an answer should be able to explain that while the language may
be emotive, the facts included can be supported from the candidate’s own knowledge so the source
is very useful despite any loaded language. Similarly, the answer might show an awareness of the
different uses of a source for this enquiry: an interview might be only an indication of one factory
worker’s experience but its usefulness might be found in indicating the attitude of the working
classes towards the government.

Although a judgement should be reached on the overall usefulness of each source, there is no
requirement to compare the sources or to use them in combination and no marks are available for
this. Doing this wastes time that could be used to explain the judgement made with regard to
utility.
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3 (a) Study Sources B and C.

How useful are Sources B and C for an enquiry into the challenges facing the
Weimar Republic in the years 1919-237

Explain your answer, using Sources B and C and your knowledge of the historical
context.
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Examiner Comments

This candidate applies valid criteria to the sources, such as accuracy, and makes some
developed points about how the provenance might have an impact on the utility of the
content of the source. For example, the potential 'staging’ of the photograph is part of
a well-developed point about the image the Freikorps might have been trying to
present.

Vs

OO ResultsPlus

Examiner Tip

At Level 3 candidates will always have a clear focus on the utility of the source for the
specific enquiry - in this example the candidate is focused on how useful the source is
for an enquiry into the challenges facing the Weimar Republic.
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Question 3 (b)

In this question candidates need to identify the difference between the views given in
Interpretations 1 and 2 about the specified enquiry, in this case the challenges facing the Weimar
Republic in the years 1919-23. Candidates are expected to identify a difference and evidence this by
selecting relevant points from the interpretations.

Responses which asserted differences without support, for example stating that Interpretation 1
was focused on challenges from the Left and Right whereas Interpretation 2 focused on the
challenge of hyperinflation, stayed in Level 1. Some candidates gave differences of detail, for
example, ‘some democratic parties did support the Weimar Republic’ but on the other hand ‘people
talked openly about removing the government.’ Candidates who did this without also showing how
these details convey a difference of view also stayed in Level 1.

Level 2 was achieved when the candidates indicated a clear difference of view and supported it with
detail from the extracts. Most candidates were able to score full marks and those that didn't fell

into one of the 2 categories mentioned above.

Candidates’ success in question 3(d) is influenced by how well they identify the views given in the
interpretations. Therefore, those who did identify the differences of view about the challenges
facing the Weimar Republic in this question, 3(b), were able to build on this more successfully than
those who failed to, when it came to answering 3(d).

Some candidates tried to use extra space in the booklet to write very full answers but in many
cases these were simply lengthy paraphrases of the interpretations which did not identify the main
difference between them and failed to gain additional marks.

(b) Study Interpretations 1 and 2. They give different views about the challenges
facing the Weimar Republic in the years 1919-23.

What is the main difference between these views?

Explain your answer, using details from both interpretations.
(4)

Aoserpretanon... 1 Cxewains. 1nat... powesful... . golxcod .
was

Weimac... cepuolic.... faced, wnereas. . inkerpretaron. 2 ...

ResultsPlus

Examiner Comments

The candidate has clearly identified a major difference between the interpretations.
However, without support from the interpretations the answer is limited to Level 1.
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(b) Study Interpretations 1 and 2, They give different views about the challenges
facing the Weimar Republic in the years 1919-23,

What is the main difference between these views?

Explaln your answer, using details from both Interpretations.

ResultsPlus

Examiner Comments

As well as identifying a main difference between the interpretations this candidate has
provided quotations to support the points being made which means that this answer
must be placed in Level 2.

@ ResuitsPlus
Examiner Tip

Once a difference has been identified, short quotations from the interpretations or a
paraphrase of some of the points made will be enough to provide the support required
for Level 2.
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Question 3 (c)

Moving on from identifying the differences in view in question 3(b), candidates need to explain
reasons for those differences in question 3(c). Only one reason, effectively substantiated, is
required to get into Level 2. Successful candidates were able to show an understanding of why
historians come to different conclusions, or have different emphases. This might be due to a variety
of factors such as the weight given to different sources, in this case candidates might refer to the
support given by Source B for Interpretation 1 and by Source C for Interpretation 2. Some
candidates also discussed the different emphases of the interpretations, with Interpretation 1
concentrating on political challenges such as those from Left and Right and Interpretation 2
highlighting the economic problems caused by the occupation of the Ruhr. Very few candidates
developed the possible explanation that these were partial extracts from longer works.

Successful candidates selected one of the above approaches and evidenced their reasoning with
specific support from the Interpretations. Most candidates were able to do this, with most opting
for explaining the differences in terms of the weight given to the selection of sources by the
historians. Those who stayed in level 1 did not fully understand the nature of the question. Some
gave a valid reason for the difference in view, but failed to support this reason, stating for example
that the views differ because the historians have used different evidence, but not providing
evidence for this.

A significant minority of candidates attempted to speculate as to the background motivations of the
historians which is not a requirement of this question. Candidates who did this tried to use the date
of the Interpretation, the title of the book from which it came, or the nature of the interpretation
i.e. being a website, as the reason for the differences in view. Candidates who did this stayed in
level 1 as they were unable to support their ideas with evidence from the Interpretations. There is
no requirement in the specification to address the historiography and the views being presented
are alternative views not directed towards a controversy or specific debate. Candidates should
appreciate that historians legitimately have differences of view and come to different conclusions
when they conduct their enquiries into the evidence. The question is rooted in the interpretations
that have been provided and therefore speculation about possible reasons for differences cannot
be rewarded here if it is based on the provenance or what else might or might not have been said;
candidates must be able to support their comments with evidence from the provided
interpretations. The interpretations are not being used as evidence and therefore need to be
treated differently from the sources, and without reference to the provenance.

A troubling number of candidates gained no marks on this question as they merely repeated what
had been said in question 3b. Some candidates also mistakenly believed that one of the
interpretations was written during the Weimar period, or even by the Weimar government, which
they then tried to use as an explanation for the different viewpoints.
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(c) Suggest one reason why Interpretations 1 and 2 give different views about the
challenges facing the Weimar Republic in the years 1919-23.

You may use Sources B and C to help explain your answer.
(4)
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W/j ResultsPlus
Examiner Comments

This candidate has gained full marks by explaining how the writers have used a
different emphasis in writing their interpretations and the answer is substantiated by
references to the sources.
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Question 3 (d)

This was the most challenging question on the paper, requiring students to show how what they
had identified in 3 (a), (b) and (c) could be effectively used to explain why they agreed and disagreed
with Interpretation 2. Interpretations 1 and 2 provide alternative views about the challenges to the
Weimar Republic. These views are not a controversy. This section is the only part of the
qualification in which candidates will be tested on AO4: Analysis and evaluation of interpretations.
Three elements were necessary for candidates to be successful: evaluation and judgement of the
given interpretation, the analysis of the provided material, i.e. the 2 interpretations, and the
deployment of contextual knowledge to support the evaluation.

The second strand of A04 required an analysis of the Interpretations. In order to be successful,
candidates needed to correctly identify what Interpretation 2 was saying - in this case that the
challenge facing the Weimar Republic was an economic one in the form of hyperinflation.
Pleasingly, most candidates were able to do this, identifying the gist of the interpretation clearly.
Less successful candidates showed an awareness of the gist but did not analyse the interpretation
effectively. Successful candidates were able not only to identify the gist but also to pick apart the
details of the interpretation and show how these details were valid using their own knowledge, for
example candidates might support the point given in Interpretation 2 about the actions of the
government ‘ruining the economy’ by providing supporting detail in the form of accurate
descriptions of the problems facing ordinary people. Impressively, some candidates were able to
counter this claim by demonstrating how the swift actions of Stresemann at the end of 1923
brought about a rapid recovery, thus showing that hyperinflation was not such an overwhelming
challenge after all.

Candidates were also expected to use Interpretation 1 to provide a challenge to the view given in
Interpretation 2. In this case, Interpretation 1 suggests it was the political challenges from the Left
and Right which threatened Weimar. Again, successful candidates provided good analysis of the
interpretation and provided contextual knowledge in support of the points made.

A significant minority of candidates were less successful in terms of answering this question
because they failed to use Interpretation 1. From level 2 upwards, this is a requirement of the mark
scheme in terms of analysis of the provided material. Sadly, a small number of eloquent and
analytical responses were unable to be awarded highly due to their failure to use Interpretation 1.

A very small number of candidates failed to use either interpretation and proceeded to approach
the question as if it were simply asking about the reasons why the Weimar Republic failed, ignoring
even the basic fact that the republic survived this period. Others wrote a general answer about the
challenges to Weimar. Candidates who did not engage with either interpretation, no matter what
the quality of their contextual knowledge, failed to get out of Level 2. The target AO for this
question is AO4, not AOs 1 and 2.

Most candidates were able to provide a degree of contextual knowledge to help answer the
question. The most successful candidates used precise evidence to support both interpretations,
including other aspects of content that may not have been specifically mentioned, for example the
Munich Putsch was sometimes used to show the fragile nature of the challenge from the Right.
Candidates who used more generalised details were not as successful as candidates who used
precise and well selected details to support their evaluation. A few candidates did not display any
contextual knowledge, preferring to repeat bits of the Interpretations to support assertions made.
Merely asserting agreement with points in the interpretation by saying ‘from my own knowledge |
know this to be true' is not sufficient evidence of contextual knowledge.

Most candidates were able to at least assert whether they agreed or disagreed with the view given
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in the interpretation. Many were able to justify their evaluation by explaining how their contextual
knowledge supported this. An encouraging number of candidates were also able to provide a line
of reasoning that was coherent and logically structured which led to a supported judgement.
However, only a handful of candidates were able to successfully address the strand of level 4 which
requires candidates to ‘indicate how the difference of view are conveyed’, beyond the selection of
information. These differences may be conveyed through, for example, language and tone or
points of emphasis. ‘Best-fit' marking means that candidates can get into level 4 even if they are not
able to show how differences of view are conveyed. It is worth remembering that this is the only
part of the qualification which focuses on AO4 which requires candidates to analyse and evaluate
interpretations, explaining how and why they differ. These differences may be conveyed in a variety
of different ways, including language and tone, selection of information and points of emphasis,
dependent upon the specific interpretations provided. Further information may be found in Getting

Started p 43, 45, 47-9.

Some candidates considered how the writer exaggerates their view of the failings of the Weimar
government in Interpretation 2 by stating how they ‘simply’ printed more money. In the case of
Interpretation 1 a few candidates questioned the somewhat excessive use of ‘powerful’ in

describing the political groups threatening Weimar.

The existence of the strands which make up AO4 leads to ‘best-fit marking ‘. All strands are
considered before a final mark is decided upon. The most successful candidates, therefore, were

able to display evidence of a clear understanding of all 3.
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(d) How far do you agree with Interpretation 2 about the challenges facing the
Welimar Republic in the years 1919-237

Explain your answer, using both interpretations and your knowledge of the
historical context.

(16)
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ﬂ///\z ResultsPlus
Examiner Comments

This candidate reviews the alternative views presented in the interpretations and
comes to a substantiated conclusion. Contextual knowledge is used to support the
analysis and there is a clear line of reasoning throughout. All aspects of Level 4 are met
and the analysis of the interpretations is very precise - even to the extent of analysing
the language used to convey the points in each interpretation. This answer is clearly a
high Level 4.
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Paper Summary
Based on their performance in this exam, candidates are offered the following advice:

* When asked to make inferences in question 1, make sure that the inferences are relevant to the
specified enquiry

* In question 3(a) focus on linking the provenance to the content of the sources

* When analysing the reasons for the different views in the interpretations focus on their content -
candidates should not be concerned with the book title, the author or the type of publication

* In question 3(d) candidates must review the alternative views in both interpretations as well as
using specific knowledge to support the points made

* All the sub-questions in question 3 should be seen as part of the same enquiry with each
question guiding candidates towards the final analysis in 3(d)
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